ECO 231 — Mid Term Spring 2009 - 2010
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FACULTY OF BUSINESS ADMINISTRATION AND ECONOMICS
Eco 231 - EcoNOMIC STATISTICS |
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NAME: 1D:

INSTRUCTOR: O Ms. Joumana Tannous TIME: 1HOUR 30 MINUTES

INSTRUCTIONS: PLEASE WRITE YOUR NAME AND ID NUMBER AND TICK THE SECTION TO
WHICH YOU BELONG.

ANYONE CAUGHT CHEATING WILL AUTOMATICALLY GET HIS COPY REMOVED AND WILL
GET ZERO.

This exam consists of 9 pages, including 3 problems, 10 multiple choice questions, Check
that none are missing. Answer the questions in the space provided for each problem; if
more space is needed, you may use the back pages. Rough work can be done on the back
pages. To receive full credits, you have to justify your answers.

Goob Luck!
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PART I: SOLVE THE FOLLOWING 2 EXERCISES IN THE SPACE PROVIDID =

I/
1. Letthesets X and Y be X={A,B,C,D,F, G, J,K,L, M, N} and Y={1 2,3, 5,7, 8, 9}.
Ms Joumana Tannous has a password for her computer consisting of 2 digits from Y
followed by 5 letters from X. In each case find the number of passwords possible.

a. The password allows repetition on the letters but not the digits.
{3 points)

FPzxtEe-—2zz8p
?pzx%:quog psomur g

b. The password allows repetition on the digits and the letters.
(3 points)

P2a 702 ¥ URG: 2 32 8L1Q o porvupidly 3

c. The password allows repetition on the digits but not the letters and the 1*
letter to appear is a J and the last one isa N. —
{3 points)

o -

d. The password allows repetition on the digits and the letters and has at least

one J.
- P
yd 5 D
: Pr

2. Develop and simplify the following:

B= wpe _n!
(“_ {Ipmnts} st

= (@) [ (@43)( m—z\f%ﬁ /
y O [ - B
Gt %) = Ok J,-(f?;‘}; /-

b. ,..C. =
e (}l‘i‘z) (1)*15 (L/{ {ments)
(-2 2 j‘ |
2 _ l_)-i-? —

2

L

(3 points)

a. a+3
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3. The following data represent the quiz 1 grades obtained from a sample of 29 students
in a statistics class the letters F and M indicates if the student if female or male:

Ms Y’s 29 Students:

17F. 22F. 2AM . 25M, 29M 34F
37M-  d2M. 45F A6 M., 48 F . 48 F—
48F-  50F I3F S4M , 54F , .54 F
S56M  S8F 59M L60M .60 M 64 M
65 F 67 M JOM 76 F 78 M

at is the t:.f and level of measurement of your data

r*d“‘- ‘haking  <@points
wiklh Yhe nakis lonel of dada iﬁc X
A quaﬂdakimw'{lmﬁ‘wg\m@ P@wl’ (/

b. Determine the following for the grades of the students.

Mean: —
s - i x (3 points)
ué & = Ma.7%¢ "
Tﬂ'\em‘a‘l 28 i\ pr e o vy TU28% pind,
Co™
Median: E@Cu,ki&"‘l‘\"-" w\_ %0 " 15 (3 points)

ON 0‘{ (E,agew 3 omd

s BR{WJO\Q O we. hone i’a@ Q.AEKQ Y @ points)

MH o eo R e A o, ~!
% M@M%m&%mmi?uo@/?

na..gi‘m’“'b %’ﬂqv{m% "S 3 (3 tawen eac.Q\]

Tﬂealalahm% grm?%t?’q?g) e
o bhe Nameg » 3B 13 = (|

3 (/ :
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Standard Deviation:

s = ﬁ;{ ;() = (%.99 Z/ ._.Upuints}

'TQeJQmahw dmwog%\ﬂfwmm | 5 - q e Yomde-

o
Coefficient of Variance:
(3 points)
(M. = _?-. - (649 o P L) / g
TR TT Mkt L
TQ\QV&AG}“*&M{U“QLQA%“ WﬂMHlb‘-bD g?[m
paink

Coefficient of Skewness:

) / 2l @3 points) X
CerKB(x WM"‘) i(a 758 ~ QD 0-20l4p

ll'-;. qdi

Al Jntei e i %sw

SimG

c. Construct a box plot of Ms Y’s datd} Show all the information needed and
draw your box plots on the grid p5)

(9 points)
/Qacﬂ.hiam-,- +l) 6.2 G = 3oxanal, =25
o) 7 [ = 27,4z
W= 37 ¥ bz- g?)xg q -
= 395 Lo

@_1‘- fqecah'&n: 30 x .G = I
2 => Q= 53 sime 63 G a)"f.aa;k‘mu_;

,C_Q_g_i Yocakion = 10 X0.26 = 22.¢ -

G
DRz = bo HEo-B ta ( RIS

:‘)Gfg::é@ l'_//

6o -34.5 = 20.¢ o,

-

IQ‘?:Q?—le



Q&U"J\. GMM'; Ri= I'STQR=

o d‘-l.(j__(].[':'?{ 20.%) = &-F¢ Aﬁmm(l?)
Comze. 3 siing doaekn ouklieh
Upen A2 ECO 231 — Mid Term Spring 2009 - 2010 -

W3 + 1. ST Qg ' ;
:60+(1-Sx20.8): 40.3G > vnadioun (78)

@otglt o the qads, o shudouks 572 00 e o

L
4] Gz C;?_?
s | gov (19

kY
N R -

O & e ”‘r&,—‘:. 7 I 24, "-.r_; b, S 6L % ?H‘rﬂaﬁ

d. Comment on the box plot and compare your result with one in part b. p3. G) | /

[Gi-Q2/ > /Qe-as/ e
13.% 9 L/
= o Ak bukion s, SL%"GOI “"’Q"“’Q“““"‘"’ “-G\-a o i

U-A-an.unm tg?uno[ﬂw r.m}- 1 =071
W2 = wediom = - 1 5 besowon kel )

2

50 7 & o dibribuakion e uaiy el @ ( 52) anc

507, Athe voluerdre aborieQs 3.
5
Tﬂewmwﬂhh wl? wolb@umaﬂimi.,?g gé,},ﬂo

R0k & ohs § -
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e. Construct a frequency table starting with a lower class limit the
first class.

(3 points)
X\ E JcF [Mdg] RE 2\ n(z0)
f -
_Y_@Sai LY ¢ |235]zo0x k=
Bestze [3 | 9 [36:%5 | lo v (= H-L 7813
V306 fio | 19 [nas 3337 LI
565690 | 22 | (252669 () ¢ i
Es‘i.; »2C| 2 26 1955 ] o~ =T s
j%} ] | lea?
29
f. Find the following using the grouped data (no comment needed for this
part f): 70[
th .
° The? decl]/eebf g = @ X C;‘? (3 points)
Zr. W2 0Y. 3 > L5661
x | ! 2
o The 3" percentile 3 ) il 2k 5
a ) . _ (3 points)
P3 focakion = (Z2) 2ax0.83 - ¢.g,
= l QZ > ,..--'-'
o The 28" percentile

Pew:

(3 points)
Rocakiow = 24X 0-28 = B-\2
=> L300, 43(
P22 20 +(8:12-6)x 3

~ 2418 K
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o The 3™ quartile

. Rocakion = 29 x ©:7G= 21-76G @pointy
CB_?- caki - =D Cr’éxéqf
Qz= %6 +(2L75='")x (3

= 60-H688> £

o The 85" percentile

P{drv'. Edf.ﬂ.kﬂ:a'ﬂ: 2_0{)( O'er:za*é’rh -

B e

P4t = & +Ch.(,r,_- |=‘1)?c l?( 65691
3

= 6G.\Q| 9)41

g. Represent graphically the gender of the 29 students in a statistics class and
comment on your chart,

FM + R = (4 points)

fordl, 714 | ho27,

Waﬂe &\l’? 5 l ';]2.7- M
29

i) (oo 7.
| |

@@&M A s tudenk gondan im Jan
e

i 4
gt
Iz
lahf
LT
T .

e f

TV - L~
Mé‘){g Studenls: s m;ﬂe w-ﬂfuﬂ éemk'fﬁae F‘h-lO(Q»rJJ,
e Jormale
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PART II: CIRCLE THE CORRECT ANSWER FOR EACH OF THE FOLLOWING 10 MULTIPLE
CHOICE QUESTIONS (PROBLEMS 4 TO 13). NOTE 3 POINTS FOR EACH CORRECT ANSWER

4. The following data are annualized returns on a group of 7 stocks.

|15.?[9]E3|-1.2[11,ﬁ |1n}9.5|
—1-2 5394 9.9 10 -6 16:7 (5, )oYy

(You will use this same table to answer question 4 and 5.) §-12
_ ~(.7, 2.3

14" percentile (P14) »1-1*[3.3,,14);%41

0348 (%) -0.06 b

& 4.75 % 3.55 /

e -1.2 % None of the above
5. Use the data in question 4: the 3™ quartile (Q3) 8x 0.76= 6

=5%] O
%9 S
9.5 'SW”'-E' ) _
) 10 % None of the above =

6. An urn contains 3 red stripped ball, 8 red solid balls, 6 yellow stripped balls and 3
yellow solid balls. The probability of selecting a red ball knowing that it is a stripped L

ball is:
stain | solid,
& 38 @13 "
e 3120 % 9/20 Yed | 3 ] & It
+ 11/20 <+ None of the above i
ol ¢ [ 3 19
7. Two cards are selected at random from a deck of 52 cards without replacement. Thafq 1 | J2o
is the probability of selecting two red cards in a raw? 26
X E__C,_ x
& 0 ' @ 05 L S N
% 0.3485 % 02135
(%) 0.2451 % None of the above d

8. Dow Jones Industrial Average increased from 961 in 1980 to over 9,500 in the third
quarter of 2003. The annual rate of increase is best described by

@ Geometric mean % Mode
% Weighted mean % Arithmetic mean .
% Median : # None of the above L
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9. Eight airline companies have submitted applications for operating over a new
international route. Only two of the companies will be awarded permit to operate over
the route, The number of different set of airlines that could be selected is equal to:

(+)28 % 20 &C2
16 4 35 ,
% 56 # None of the above ol

10. In an experiment consisting of selecting cards at random without replacement from a
deck of standard cards determine the probability that one is heart, one is spade, one is

club and one is diamond _1_5:, X I3 X B X_I_z, &
67 6 Go [ gi
< 0.0044  0.0032
& 0.0766 & 0.0264 e X4/
0.1055 %+ None of the above .
L.-'/

11. Suppose A and B are events where P(A) = 0.5, P(B) = 0.3 and P(B | A)=0.4,

Determine P (A UB) =
e p(GaB) —
% 0.1 w 0.4 = p(B)x p(B/4
¢ 02 % 0.5 e i ) f )
03 (3 06 =0-5X o-4
y P{QU“}."[F}W{R}T Cl'z
17 Ly -

12. Let P={A, B, C, D} and Q = {0, 2, 4, 6, 8}. What is the number of license plates . © (A 5)
consisting of three letters from P followed by two numbers from Q such that the letter =~ ©- S to. 3
B appears at least once? (Note that repetition is allowed only for the letters) - 0.2

e 1280 < < 1600

(2540 € w0) T
<+ 675 % None of the above

13. There are 600 employees at the Tuesday Morning’s Department Store corporate
headquarters in Columbia: 45% of them are male, 500 of them have attended college,
60 females have not attended college.
What is the probability the employee is either female or attended college?

“* We can not know we need more ., 330 500
information * 600 s00 L/
2 55% 400 % 0.8333
600 “* None of the above

(*)0.9333
p(f)y olc) - pLFac) N e

22 6 9 e X 23 S
oo < | ¢9= 9{3":‘“
728 Wose: =
6 oo oo C ‘1110 6o | \ao

o~ l?‘;‘n\ ?3:- l'::f:rs



